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     ACCT 5341 International Accounting Theories
Hint:  Some answers are given in John Smith's Examples 1 and 2 in Book 1.    Also see the Review Questions and Answers in  Book 1 and the Vanilla Swap examples in Book 3 of in Jensen’s ToolBooks.

1.  Assume that the Client has a variable-rate loan of $100 million with the interest payable semi-annually for five years based upon the LIBOR at the each interest rate payment date.  The LIBOR is expressed as an APR (Annual Percentage Rate) even though only half that rate is used to calculate the interest rate payment on the note.  On January 1, Year 1 when there are 60 months remaining on the loan principal, the Client anticipates a steady rise in LIBOR.  To hedge against this rise, the Client enters into a vanilla Swap 1 with Counter-Party 1.  The Client will receive a variable LIBOR rate semi-annually on a $100 million notional amount.  Counter-Party 1 will receive in exchange a 6.5% fixed rate payable semi-annually.  Assume that the date of closing the books is December 31 of each year.  Also assume the loan interest and Swap 1 settlements are on December 31 and June 30 each year.  What is the Client's journal entry at the date of Swap 1 assuming traditional accounting for such a swap?  Assume the $100 million loan is already recorded in the ledger.



Client (when LIBOR = 5% APR)


Year 1





Debit

Credit

Jan. 01




 
2.  Under Swap 1, what are the Client's journal entries on June 30 if the first net settlement arises in cash.? Assume the LIBOR  = 8.5% APR on that date. Explain your answer and show calculations.


a.  Journal entry to pay the interest on note payable with a $100 million principal:


Client (when LIBOR = 8.5% APR)


Year 1





Debit

Credit

June 30




 

b.  Journal entry to show the net cash paid or received under Swap 1 with a $100 

                million notional:


Client (when LIBOR = 8.5% APR)


Year 1





Debit

Credit

June 30




 

c.  What is the impact of Swap 1 on semi-annual interest expense of the $100 million loan?

3.  In Swap 1, what are the Client's journal entries on June 30 if the first net settlement arises in cash?  Assume the LIBOR  = 4.5% APR on that date. Explain your answer and show calculations.


a.  Journal entry to pay the interest on note payable with a $100 million principal:


Client (when LIBOR = 4.5% APR)


Year 1





Debit

Credit

June 30




 

b.  Journal entry to show the net cash paid or received under Swap 1 with a $100 

                million notional:


Client (when LIBOR = 4.5% APR)


Year 1





Debit

Credit

June 30




 
4.  Draw a graph of the net interest expense as a function of LIBOR.  The ordinate (y-axis) is to be interest expense on the note payable before and after a hedging adjustment for Swap 1.  The abscissa should show the possible values of LIBOR/2 ranging from 0 to 0.10 semi-annual rates.
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    |--------------|---------------|---------------|--------------|---------------|-------------->LIBOR/2



0.00
    0.02             0.04             0.06
  0.08
       0.10

5.  Suppose that instead, the interest rate declined so precipitously by April 1 that the Client wants to negate the variable interest rate risk in Swap 1.  Suppose the Client enters into Swap 2 on April 1, Year 1 when LIBOR = 4.0% APR.  Client negotiates to receive a fixed 6.0% APR for 57 months payable on the same dates as Swap 1.  In exchange, Counter-Party 2 will receive a variable interest payment based upon LIBOR.  What is Client's journal entry to record Swap 2(April) under traditional accounting for such swaps? Explain your answer and show calculations.


Client (when LIBOR = 4.0% APR)


Year 1





Debit

Credit

April 01




 
6.  Since LIBOR is relatively low, it is almost certain that the Client will receive more interest in the first year of Swap 2 than it pays out (which is sometimes referred to by John Smith as cash up front).  In this case why is the Swaps Yield Curve a clue as to why Counter-Party 2 would agree to Swap 2? Explain your answer and show calculations.

7.  Under Swap 2, what is the Client's journal entry on December 31 assuming LIBOR = 4.4% and interest payments due every June 30 and December 31?  Assume a net settlement accounting of interest rate swaps in Swap 2. Explain your answer and show calculations.


Journal entry to show the net cash paid or received under Swap 2 with a $100 million notional:


Client (when LIBOR = 4.4% APR)


Year 1





Debit

Credit

Dec 31





8.  Draw a graph of the net interest expense as a function of LIBOR/2.  The ordinate (y-axis) is to be interest expense on the note payable with no swaps versus with Swaps 1 and 2 combined.  The abscissa should show the possible values of LIBOR ranging from 0 to 0.10 semi-annual rates equal to LIBOR/2.  In this graph ignore the three-month time difference between Swap 1 and Swap 2 starting times.
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    |--------------|---------------|---------------|--------------|---------------|-------------->LIBOR/2
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9.  Under EITF 84-36, what are the Client's journal entries on December 31 of Year 5 to terminate the loan payable and Swap 1?  Also show the Swap 2 termination December 31 of Year 5.


a.  What is the Client's entry to pay off the loan with $100 million in principal at a variable interest rate? Explain your answer and show calculations.


Client (when LIBOR = 10% APR)


Year 5





Debit

Credit

Dec. 31




 

b.  What is the Client's entry to terminate Swap 1 with $100 million notional and net  settlement accounting?   Explain your answer and show calculations.


Client (when LIBOR = 10% APR)


Year 5





Debit

Credit

Dec. 31



; 

c.  What is the Client's entry to terminate Swap 2 with $100 million notional and net settlement accounting? Explain your answer and show calculations.


Client (when LIBOR = 10% APR)


Year 5





Debit

Credit

Dec. 31




; 

d.  What has been the impact of Swaps 1 and 2 on the original $ 100 million dollar loan interest expense?  You can answer this question in general without knowing the entire history of LIBOR over the five-year span.

e.  Suppose that, instead of carrying Swap 2 to the end of Year 5, Client terminates Swap 2 on December 31 of Year 1 by paying out $500,000 to Counter-Party 2 plus interest for LIBOR = 8.5% APR for the six-month period in the last half of Year 1.  What is the combined journal entry for this termination and interest?  Note that Swap 2 qualifies as a hedge against Swap 1.  Assume Swap 1 is not terminated until Year 5.  Explain your answer and show calculations.


Client (when LIBOR = 8.5% APR)


Year 1





Debit

Credit

Dec. 31




 
